AMU-153> bLAIVU—D 2024FHF 2R U—-X
Mfidsel CL2

HY f i SED EEA fSEB
o B B o) o
e e 7EIZOT 12-5 6 -5 - - -
N=ZR=WD5T a2y 12-5 6 -5 - § .
Bl 7515&7 5 2 12 8 = 0
N=ZR=INT5T EESDHRIF7 5 - 12 8 -0 = = =
ALl 757\;&7 5>—<6 0>—<8 2>—<18 - -
N=ZR=NDST yeanza7 5 - 6 0 - 8 2 - 18 - -
iz 7|K§|;§7\i|5z 18©2 5©3 3A3
‘ . L 7 - - - - -
FIVELRFAS =R panzar - - 18- 2 5-3 3 -3
& 757\?7 3 * 5 6 ) 7
NZARZNISTA geanzar - - 3-5 6 - 7
il 7515&7 3 - 3 7 = 6
NZARZNISTB  yeanzar - - 3-37-6
[ELvES = Rel ; & EkaE BRAK
IR F— L%
BASAVES RFAF—X 7 3 2 0 0 1 26 8 18 2
BEANR—ZR—)LOS5T 6 2 2 0 0 0 18 10 3
‘BRNR—ZR—ILISTB 4 2 1 0 0 1 10 9 3
BIIR—ZR—ILIST 3 2 1 0 1 0 13 12 3
BRINR—ZR—ILISTA 0 2 0 0 2 0 9 12 -3 3
AR —ZR—)LIS T 0 3 0 0 3 0 7 32 -25 2
JEfr ek CL3
= HY %75 BRI))I|B =
B BX © X X
HEECBC 7EX37 10-4 6 -7 0 -16 -
EESDZIT 10-4 6 -7 0 -16 -
IR 71’]@#7\;5Z 4 2 10 1 2 3
. 7 - . . B
N=AR=NDST yeanza7 4 - 10 1 -3 - §
Al 757\? 7©6 3©1 1x9 4©2
. 7 - - . }
N—R=NTSTB anza7 7 - 6 3 - 1 1 -9 4 -2
B B (@) @) X
INEHRZS - 7EIX3J7 16 - 0 = 9 -1 4 - 6
EESOZI7 16 - 0 - 9 - 1 4 - 6
M2 =T 7"’52&7 , X e © .
N—ZAR=N05T EESGZIT - - 2 -4 6 - 4
I:vE o % Bl BHAK
IR F— L%
I | | R— RAR—)LISTB 9 4 3 0 1 0 15 18 -3 0
INEFRRRXASY—X 6 3 2 0 1 0 29 7 22 1
NS 1= FAR—ZR—ILIS5T 3 2 1 0 1 0 8 8 0 2
FECBC 3 3 1 0 2 0 16 27 -11 3
J\IEFENR—ZR—)LIST 0 2 0 0 2 0 5 13 -8 3




